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SECTION A (32 marks)
Answer ALL questions in thiy section.

State three limitations of using mtios in evalugling the performance of & business. (3 migrks)

L.
2 Qutline fnurpam-inlas offered by merchant banks to their r:m&nnm*s, i, s (4 marks)
Ry T PR 5 T Rt R Vol ghafim Aande fa 4 ke iy
Bl ST Pt xal
i State two ways in which business finance may be important to an organisation. {2 marks)
4. State three limitations of credit cards a5 a source of business finance. {3 marks)
: '|"\-|n-\.'|i|'|.I ;'-F_I"' i ¥ _-"':'- e feaia ﬂ_ LA '

5: Biwendi Ventures Limited paﬁd dividends at the rate of Ksh 3 per ordinary share at the end of
the last financial year. The current market price of each share is Ksh 35. The COmpany expects
the dividends to grow at the rate of 5% per annum. y357
Caleulate the cost of equity to the firm. -

{3 markz)

6. Radak Limited intends to invest Ksh. 4,000,000 in a project. The following are the expected
net cash inflows from the project:

Year  Net Cash Inflows (Ksh) "
[ 1 600 000 Q
N
2 L A00,000 O
3 2 AN0 000
4 2R00000 W\
The firm’s cost of capital is 14%. 0
{i) Calculate the discounted pay back period of the project.
ti)  The policy of the management is not to invest in any project with a discounted pay back
period of more thari 3 years. Based on the results in (i) above, advise the management
on whether to invest in the project or not. {4 marks)
fiz iate three uses of the cost of capital 1o a business organization. {3 marks)

8, Bakal Enterprises requires 25 000 units of a certain raw material per year. The ordering cost
is Ksh. 7 500 per order. The purchase cost of each unit is Ksh. 100, The carrying cost is 15%
of the purchase cost. Cafculate the Economic Order Cuantity, (FOQ). fan(e {3 marks)

9, Rima has deposited Ksh 200,000 in a fixed deposit account at Focus Bank, The bank pays

g intcrest at the rate of 7% per annum, compounded quarterly. Calculate the compound interest
earned st the end of 5 years, (4 marks)

1903/203 2

196203

1926/203

November 2021




i
!: I.I I_-..

10, State three types of credit policies that may be adopted by an -nrgﬂ“imti,:,“:-l o
(3 marks)
SECTION B (68 marks)
Answer ALL questions in this section.

. (a)  Explain four methods that the central bank of a country may uge to control the amount
of money in circulation in the economy. (8 marks)

(b)  Mlongo Limited intends to invest Ksh, 2,000,000 in a machine. The following are the
expected net cash inflows from the machine:

Year Net Cash Inflows

(Ksh) ' A0 P
1 300000 '
2 60,000
3 D00 (k)
4 1,200 000
3 1,300,000
The company’s cost of capital is 14%.
Lo S
eh ; )
(i) Determine the Net Present Value (NPV) of the machine; 'y 15k TS

(i) Advise Mlongo Limited on whether to invest in the machine or not,

{9 marks)
A2, (a)  Outline four types of costs associated with holding of stock in a firm, ., (8 marks)
~Ab)  The following is the capital structure of Vantage Limited: e
5 Ksh

160,000 ordinary shares at Ksh 10 cach © 1 600,000
80,000 8% preference shares at Ksh 10 each 800,000

Retaincd earnings 1 000,000
10% debentures at Ksh 100 each _600,000
Capital employed 4,000,000

The company’s expected ordinary dividend is Ksh 3 per share, The ordinary shares are
currently selling at Kish 20 each. The preference shares are selling at Ksh 16 each, The
corporation tax rate is 30%, 1# 1

Calculate the Weighted Average Cost of Capital (WACC) of the company. (9 marks)
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13,  (a)

(b) The following information was extracted from the books of accounts of Tavari Limited

Ksh
Saleg * 2,000,000
Cost of sales 200,000
et profit before tax 1 B00000
v Cagh. Q00 000
- Debtors 100,000
“Capital employed 4,000,000
10% debentures 1000, 000
Current liabilities 200,000
Inventories: on 1 Januaty 2020 50,000
on 31 December 2020 150000

(i} Using the information above, calculate each of the following ratios:
4T '

(1) Return on capital employed?) =77 -

; /

(D) Acid test ratig; . C &% 1 bl assedd

Debt collection period; 2

{1
- AV} Stock turnover ratio,
(i)  Comment on the liguidity position of the company. (5 marks)
I+ “{a}  Explain four advantages of Leasing, as a source of business finance. (8 marks)

Ab) Nancy plans to buy an embroidery machine in 3 years' time, at a cost of Ksh L A00.000,
To achieve this, she deposited Ksh. 400,000 in a fixed deposit bank account in the firs
year. ‘The bank pays interest at the rate of 9% per annum. In the second year, she
deposited Ksh 450,000 in the Same account at the same rate of interest.

¥ Ty qu_@ﬁg marks)
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